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A calculator will be required for this paper. aivi
A ruler, a protractor and a pair of compasses may ba required, 1. 4 :
2. 3 H
INSTRUCTIONS TO CANDIDATES 3, 3 s
Use black Ink or black ball-point pen, Do not use gel pen or 4, 5
corraction fluid,
You may use a pencil for graphs and diagrams enly. e 2
Write your name, centre number and candidate number in B 3
the spaces af the top of this page. - 4
Answer all the guestions in the spaces provided. 3
if you run oul of space, use the continuation page at the - 3
back of the booklet, taking care o number the question{s) a. B
comectly. 10
Take w as 3-14 or use the 1« button on your calculator, 2 6
1. 7
INFORMATION FOR CANDIDATES 12. 3
You should give details of your method of sclution whean 13. 4
appropriate. 14, 6
Unless stated, diagrams are not drawn to scale. P
Scale drawing solutions will not be acceptable where you . 3
are asked to calculate. 16. 4
The number of marks is given in brackets at the end of sach i7 5
question or part-queastion, *
In question 9, the assessment will take into account the 18 7
guality of your linguistic and mathematical arganisation, Total 20
communication and accuracy in writing.
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Formula List - Intermediate Tier
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Area of trapezium =% (a+ By 5

|

Volume of prism = area of cross-saction = [ength
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1. Using only the numbers in the following ks, < Cdwo (I e oy "5 oy

. @ Lt acta
I orL

prime 2,35, 115,40 —oy bes O fades
- Y (: | HJ J|:-:ﬂ—.il) @')

S 17l -

% -
(b) & cube number, (_1’1 xnxh=n" w [|,% 2% % 123 J @j‘@;
=Tt
fc) afactor of 188, (H"-”""' o X topake (B ;_1..; Tﬂ%,-ft )
%

(@) & multipls of 7:25. (1‘ 2N Hmen teoles F35 | w50 A-¥
5% 56 ah 45 S0 5‘{] s 5«3:

R Ltcm“" G Jlﬂn'l-l'_ 53

2. Circle the E%mmrhrﬂmh nfﬂ'lafcilmmgstatmnanm ; -
vangle = 150° Cag + F|as on

fa) Elnaang}umaﬂﬂhw.ﬁlsﬁn -..:":""'ﬂ,ﬂff‘x.l'rfftfﬂ — M (il (‘f-!, 0 'j.

ar 58 59 60 61 62 63 B4

wiite dowmn

One of the othar anglas must be

e (a0)) 1z 60" 360",
A0+ 6O.ZISQ. . R-ISC =307
HAhT 6ngle L ety = 360"

fbl ~ Three of the angles in a QE;HE'!QE[E_H add up to 250°
The size of the fourth angle is

70° 360° 180° . 12557,
[ ]

B0 =380 = WO

CE_GEELL.JH w
iz} Huw s facing Marth,
He turns ise unti! he is facing West.

He has tirned through an angle of

3" %0° 075" 9"
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|3. Shade the least number of squares in the lower two quadrants so that the grid ha s

symmetry of order 2.
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Flod the oo Svalue

fa} Solve the equation 3x -2 =11
SV j&}i]tﬂ; '1
il e =

12_ &

4.

3. :I_ rim ezl
b=

(b} A number machine ks shown below.
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INPUT OQUTPUT

) Calculate the OUTPUT when the INPUT is 2. il valwre [ &

ERa) %3 Gledald W ader

(i Write down an expression for the OUTPUT when the INPUT is ».
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5. Complete each row of the following table, o
The first row has been done for you, @
Temperature at M Temparature at
Place iciday Change following midday | 7
Holyhead -1°C Up 3°C 2°C T y
. L
Dolgellau -3°C Up H4C 1c T f_ﬁ\
. <,
Cardigan 2°C Down 3°C o ML U,
& —t t:‘lf
MNewport — &5 Up 2'C Ml  -2°C '
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Find the size of angle x.
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. Show clearly whether the following statement is true or false, ‘:i_’
If you increase a pesitive number by 10% and then decrease that new w:]ue. by 10%, you |
get back fo your original number! {LW
Tanh, ot Q. hadetss 10O s, %oddfﬂf Y fol3
S s o i [T

0%, nw_wat Iy el

107 dopeore 0~ 11O — |lo— I
N =qq
not T guwe_ag. {gﬂtvm

soits. False -

Nc.ns r'”*wJL {TJL G BN S Gbﬂ{_mdlﬂﬂ' N

8. Circle either TRUE or FALSE for each statement given bel
e — =

X pol
sy Qeapl. WA 3
STATEMENT Wm e gt B e 94
o g d
Allgguilateral triangles are congruent. & ‘E=T TRUE GALSI;%)
e
Al squares with equal areas are congruent, G‘H,LJ?D FALSE
ircl i i { b
Circles with equal perimeters are L‘.DHQI'LIEHL'-III TRUE 3
All regular ::lctagnrhs are mngruenL TRUE (?;E)
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accuracy in M'rbng

A sguare has meter of 80cm. S""~I.,-"'~"‘-""“f I'— ll_(*-’-{,ﬁ H-.JI ] Cu 1(,){

A circle fits exactly inside the square, as shown in the tllagram & g
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10. fa) Write down the ath term of the follow g
EI_'QB ‘{-,”{nﬂ sequence.

lEt‘h e—nk Lz to ?
o e Nocimsn P MNP,

=

L Yelwes n fay

397,
o 4

3,4 a4+l 75 |

s e D N
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fb)  The ath term of & different sequenceis givenby n2 + 7. ] (L0

(i) Write down the first three terms of this sequence, SLJJSﬁ f’IxET
3 -

L R e e N |

Hiems= ... Eg, ..... . Idterm=_ E{? .........

2nd tarm = |l k .
(iiy  Which term in this sequence is the first that has a value greater than 857
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(B}  Describe fully a siwle trangformation that transforms triangle S cnto riangle T
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(it Translate the triangle S using the column vector

VNE. i — ¥ li'l.:"u.;'ll 1
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12. Circle the corect answer for each of the following. n4

(&) xix b= X 1 = " § ule (Ej

xie xS xt ® 1 Ya“
Cxx! = ' o o . “’{qﬂ,

== (e gy wnd bracckols 15{ tlrﬂl
B (Tx=-5)-(x+2) ;Jé" “Lrﬂ*ft] (@Mg L._ir_e“.tbmni) C

dx —dy dx + 3y —dx + Ty —dx =Ty /

.'.l-'

(G)s (=3 (“39)- =24
i e T g T 1,)
ey —3
fc) A cartravels x miles in 30 minutes. e
Its everage speed in miles per hour is

2x % RIS

M :JL. M i!/tﬂ'u\.k Hnae ol

il

] donud. 5o dislon (1
Eyﬂmd maﬂancﬂ Aaiel) -
b L3
6O -
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| 13. A solufion to the equation
2xi-Ix=-17=0
lles h-atw&a&? and 3. E;'hm o u:'.LL{ fad LA H_ ToalG Va t,:__'q':'-'.

Use the method l|:'n’r'c1'in;1l and improvement to find this solution correct ta 1 decimal place.
You must show all your working. &t Lot Q Stp ( [4]
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14. Alacollege, atotsl of 28 students study one or more of the science subjects: Biclogy, Chemistry o
and Physics.
The 28 students form the universal set, £
Some parts of the Vann diagram balow have already been completed.
It is also known that; Ala b el
* 5 students study only Biology l""-'” T an di'd LA
* 13 students study Chemistry Valueh r; ,j:,tJ "
&ty g
(@ Complete the Vienn diagram. E_tﬂ i ]-{ -
— (' ; A
E .
) _?f Biology Chemistry
| - - 6r2a Il @< 1
) s
% b :E?}’
0 “‘/Lbyf
‘ﬁ:’r ,:-'{"‘ ]
|
| Physics
ﬂ:l t e jiﬁ"‘\-‘# ; i ‘J g ............................................
__________________ 2+ 643 +1+Y +D --?ar
i~ A=
R [d—"‘ SLALLEN NS
Prtocda Wby = mf‘c;mm{-ﬂ i%
(B} How many students study Biology and CHemistry i mot Physics? @)\{ZA
SO e el S5 i R A
o v
] One of the students is chosen at random.
WWhat is the probability that this student studies Biclogy?
adl SH2teA3= e
L T e
2%
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15. (&) The diagram below shows the graph of a straight line 'ﬁnr valuas of x from -3 1o &,
¥
- 10— . |
R R R
I i .! T L ol 1
i - |
] e | Y {
NEZH A 1 _ : | HE
: i ._I ] 1= _i o
Ll M= 4
| (
] i o 3 iy L
s | yi
rHH g i 1[
i o
it - L j :
-3 A2 =130 1 2 et
RaEy dunk be ! E @ flg‘;t‘ﬂ/.
/o R i = 2%
() Write down the gradient of the above line. GEJ]' j\"f
(i) Write down the equation of the fine in the form ¥ = mx + ¢, where m and ¢ are w .}
numbers. :
‘j = &y +Y4 Y= 2x +4
A o
() Without drawing, show that the line 2y =5x— 3 is parallel to the ke 4y = Mx + 7. L4 o
You must show working o support your answer. ',‘f{:t_ :
= I.“. ki |l’*"- E':"”'“: ':ji-e"{.rl"-fll - Fj
GLH Oalad oot = et
i LA 'ﬂ'. 1 =M f
S0 awerdge bd th gt Lkl
a " L — Lfl—l .H— 1 _-r Iha‘l :_..ﬂ
i s P T . .J } } UZMha N
3 = e iy
=35 —3 :1*"3 L —] ‘*«_. ) J k’j '} :'J‘—HI
\i i i j | J
W =t
16 @ WIEC oA L 00| l'ﬂlk-':'-"“" {51 — Si’_'e Ji’,-"lf'Jlul""«i:--'l.- ‘{-{_L"IJ :



?‘-"U]"IJ'};L&LLj Lﬂﬁ;ﬁf AL A :f_r:rp{?fa'mrfﬁfr' K
' RELATWE 7 FREQUen( \

16. A factory uses a machine o produce elecirical sockets.
defactive socket,

2000, : and 5000 sockets,

Relative frequency of G filnag ¢
defactive sockals

A {‘K:EJ-E';': Wi f .

g = Az san kg ks Sy W 10 i = B il
—_—k | —_— =Rl B = R el LE L p Dt
—_— —f i Bl B | o el

= S e B S s B

006

ﬂ'ﬂd‘ N o .- — } __-l" 2 =

1 1 .
e i ol I ] i =P 1 L
MAINR N Eien, el B TN B W VA W R 1 1
1 —_— - ..LEI".--I - : — - Srareie Wm0 £ ! Tk I
V8L PR S e 1 P . o o o e i e A
i e FE = L A B ST ] e | I i
0-02 14— :
' I
i B I 20 ™ T o

0

The manager carries out a survey to investigate the probability of the machine producing a

The Dﬁ%@%@* dafective sockets produced was calculated after testing a total of 1000,
The results are plotted on the graph balow, [JLL e r-H_ ¢ ] WM ] —

1 ' : ~ | Number of

Examiner

e do fiice
L2 pond

.

b e

metrj

\

a 1000 2000 3000 2000 5000

fal  How many of the first 3000 sockets tesled were defective? Euﬁd &
G616 [0 0 B e S, - 1 10

Or0S x 3ol =80

() Iﬂwn the best estimate for the probability that one sockel, selected at random, will
ba Clive, . R A
You must give a reason for your choica. —lge Al kAL 1. MO
Probabiity: SCO0 ¥ O O = ﬂ R -

sockais tosted

@R

T
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17. Points A, B, C and D lie on the circumference of a circle, centre O B : T.we r
BD is a diameater of the circle.
The straight line BC = 47cm and BAC = 28°,

1 s Y
'rﬁ'-."l wi@ an
':._..E.lla'tl !I-".i"—:;l i |".:I 4 '-Jl

f'-'L‘ A

1 '
fo e
r2e*

L I\'J_rl'_.‘:‘:..-.ll..-'._r ':l':-".r'll y I--ll-_. i

it

A
Diagram not drawn o scale

i 1
Write down the siza of BOC. II\ POV feind
Hence, calculate the length B0, ] )
You must show all your wnr‘rclng
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18. (&) Factorise x?—2x— 24&:nd hence solve x2-2x-24 =),
Py 2'-.}! ,l R B B e e e i 0 e s 1

. 3
41-3 Tx+l_20 Freo dion =
A Y " il Pﬂj o Hl)

J"T X —% = ‘S’?
19y = §3+5

END OF PAPER
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